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1. Answer all the questions. All questions carry one mark each

2. Since all questions are compulsory, do not try to read through the whole
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3. Begin with the first question and keep on trying one question after another
till you finish all the question.
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questions which you have left in the first instance and try them again.
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make the best use of it by not spending too much time on any one
question.

6. Separate sheets have been provided for rough work in the Question
Booklet itself.

7. The answers should be marked on a separate answer sheet provided in
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8. The answer sheet has two parts corresponding to Part - | and Part -l of
the Test.

9. Answer to each question is to be indicated by shading the number of the
correct choice in the answer sheet with black ballpoint pen from amongst
the ones given for the corresponding question in the test booklet.
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MENTAL ABILITY TEST - NOVEMBER 2019

Duration: 2 hours Max Marks:100

(Question nos: 01-02)
Direction: In each of the following questions, a number /alphabets series is given
with one term missing. Choose the correct alternatives that will continue the same
pattern and replace the question mark.
1.7, 13, 25, 45, 75, ?

1) 117 2) 153 3) 209 4)123
2. QLR, JPD, RNU, GNC, SPX, DLB, __

1) AJA 2) BTU 3) KIE 4) TRA

(Question nos: 03-04)

Direction: The first pair of numbers /words bear a certain relationship. The same
relationship is required to be found in the other pair in which one number /word
is missing .find that number

3. 583:293::488:7?
1) 291 2) 378 3) 487 4) 581
4. Peacock : India :: Bear : ?
1) Australia 2) America 3) Russia 4) England
(Question no: 05-06)
Direction: In each of the following questions some letters are missing. The missing
letters are in a sequence as one of the alternatives among the four given under
each question. Find out the correct alternatives.
5. cccbb_aa_cc_bbbaa_c
1) aaba 2) baca 3) baba 4) acba
6. ba_ba_bac_acb_cbac
1) aacb 2) bbca 3) ccba 4) cbac
(Question nos: 07-11)
Direction: In each of the following question the actual alphabets letters are
replaced by certain other alphabets /numbers according to some rule to form its
code. identify the rule and find out the correct code.

7. ‘ Hyderabad ’ is coded as Ixedszcze’ then ‘Chennai’ is coded as..............

1) dgfmoz;j 2) fbacdek 3) lImnokpj 4) tvmnsop
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8. If in a certain code, TEACHER is written as VGCEJGT, how would

DULLARD be written in the same code?
1) FWMNCTF 2) FWNNBTE 3) FWNNCSF 4) FWNNCTF

9. In a certain code FLOWER is coded as 36 and SUNFLOWER is coded as 81,
then how to code FOLLOWS?

1) 42 2) 49 3) 63 4) 36

10. If P denotes +, Q denotes *, R denotes / and S denotes -, then
18Q12P4R5S6="

1) 36 2) 53 3) 59 4) 65
11. In a certain code language, '+' means '*', '*' means '-', '-' means '/' and '/’
means '+'then 16 *4 / 4+ 14 -2=7?
1) 56 2) 28 3) 40 4) 112

(Question nos: 12-15)

Direction: In each of the following questions a matrix of certain characters is
given. These characters follow a certain trend row-wise or column-wise. Find out
the missing characters/value.

12. Which number replaces the question mark?

1) 24 2) 23 3) -23 4)15

13. Which number replaces the question mark?

1) 12 2) 10 3)9 4) 16



14. Which picture does this shape make?
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1)B 2) A 3) D 4) C

15. Which letter replaces the question mark?

6 4 4 1
4 ] L T
5 u T 1
] 10 14 2
1) P 2) Q 3) R 4) S

(Question nos: 16-19)

Direction: In each of the following questions, you are given a figure (X) followed by
four alternative figures (1), (2), (3) and (4) such that figure (X) is embedded in one
of them. Trace out the alternative figure which contains fig. (X) as its part.

) BIAPE

(X) (1) (2) (3) (4)

1) 1 2) 2 3)3 4) 4

16.




(1) (2) (3) (4)

1)1 2) 2 3)3 4) 4

18.

" b O

1)1 2) 2 3)3 4) 4
19. —
S il J e
I 0 ﬁ‘i —
(X) (1) (2) (3) (4)
1) 1 2) 2 3)3 4) 4

(Question nos: 20-22)
Direction: Find which one of the four/ Third figures on the right should come

next.
20.
rOalooo|odo|oc 2
H O '®) Pl
(1) {2} (3} {4}
1)1 2) 2 3)3 4) 4
21.

IrNnogolu-e

1 I I I B
(1) () (30 (4

1) 1 2) 2 3)3 4) 4



2> EEREEE-E
o8 B8 BE B

23. Count the number of triangles and squares in the given figure.

1) 44 triangles, 10 squares 2) 14 triangles, 16 squares
3) 27 triangles, 6 squares 4) 36 triangles, 9 squares

(Question nos: 24-25)
Direction: Find out which of the figures (1), (2), (3) and (4) can be formed from the
pieces given in figure (X).

24, v
(X) (1) (2 @G @
1) 1 2) 2 3)3 4) 4
25.
o g |2 018ta”3
v3©° RWI|toz2]4 eloP
(X) (1) (2) (3) (a)
1)1 2) 2 3)3 4) 4

(Question nos: 26-27)

Direction: In each of the following questions, choose the correct mirror images of
the given image of the Fig.(X) from amongst the four alternatives (1), (2), (3) and (4)
given along with it.

S RI2UNIS]IS

26.




27.

ARV IRZIN

X 1 2 3 4

1)1 2) 2 3) 3 4) 4
(Question nos: 28-29)
Direction: In each of the following questions, you are given a combination of
alphabets and/or numbers followed by four alternatives (1), (2), (3) and (4). Choose
the alternative which is closely resembles the water-image of the given
combination.

28. ACOUSTIC
(1) vOONslIC (2) yeonelic
(3) yCoNns.lic (4) yconaTIc
1)1 2) 2 3)3 4) 4
29. E8t4e9C

(1) 3814900 (2) E81h2CD
(3)38iv¥e6C (4) E8f¢€3C

1)1 2) 2 3)3 4) 4
(Question nos: 30-31)

30. Choose the box that is similar to the box formed from the given sheet of

paper (X).
S
2> 9 & ¢ @
(x) (1) (2) (3) (4)
1) 1 and 2 only 2) 2 and 4 only
3) 2 and 3 only 4) 1 and 4 only
31.
=1
o =3
=] ® X ; °)
o] el o = e
(x) (1) (2) (3) (4)
1)1and 2only 2)1land 3 only

3) 3 and 4 only 4) 1,2,3 and 4 only
6
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32. ACEGI, JLNPR, SUWYA, KMOQS

1) LBGHI 2) LIFH 3) YWXAC 4) BDFHJ

33. Reading is Related to Knowledge in the Same Way Work is Related to --------
1) Money 2) Employment 3) Experience 4) Engagement

34. Select the Missing Alphabet Number
NAJ31 , BEF28, RAM31,-------- YAM31
1) RPA31 2) BRA30 3) RPA30 4) PAR31

35. If A stands for +’, B stands for ¢, C stands for ‘X’, then, what is the
Value of (10C4) (1) (4C4) (B6)?
1) 30 2) 60 3) 50 4) 56

(Question nos: 36-37)
Direction: Each of these questions given below contains three elements. These

elements may or may not have some inter linkage. Each group of elements may fit
into one of these diagrams at (1), (2), (3), (4), you have to indicate the group of
elements which correctly fits into the diagrams.

36. Which of the following diagrams indicates the best relation between
Women, Mothers and Engineers?

y @, 00 0 4 Q

37. Which of the following diagrams 1nd10ates the best relation between
Author, Lawyer and Singer?

o TX 2@ 0

38. Which of the following figures shown below, when folded along the dotted
lines, will form a pyramid—shaped box with a rectangular base?

(d)

1)a 2)b 3)c 4)d




39. Among the four answer figures, which one can be formed from the cut-out
pieces given below in the question figure?

Problem Flgure

B4

Answer Figures
(a) (b) () (d)
1) a 2) b 3)c 4) d

(Question nos: 40-42)

Directions: In each of the following questions, select the alternative in which the
specified components of the problem figure are found?

Which one will replace the question mark?

1) 60 2)50 3)25 4)21

41. Which one will replace the question mark?

32 ? 44 7

1) 33 2)38 3)32 4)37

42. Which one will replace the question mark?

1 3 1
35 24 D@E
4 n] 8

1) 660 2)670 3)610 4)690
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(Question nos: 43-44)

Direction: In each of the following questions, some groups of letters are given, all
of which, except one, share a common similarity while one is different. Choose the
odd one out.

43. Choose the odd one out.
1) YDWB 2) TKRI 3) QNOM 4) HLFJ

44 . Choose the odd one out.
1) OUSF 2) PIGS 3) TEPJ 4) XLPA

(Question no: 45-50)
Directions: Answer the following questions

45. A father tells his son, "I was of your present age when you were born". If
the father is 36 now, how old was the boy five years back?

1)13 2)15 3)17 4)20

46. A, B, C, D and E play a game of cards. A says to B, "If you give me three
cards, you will have as many as E has and if I give you three cards, you
will have as many as D has." A and B together have 10 cards more than
what D and E together have. If B has two cards more than what C has
and the total number of cards be 133, how many cards does B have?

1)22 2)23 3)25 4)35

47. What is the smallest number of ducks that could swim in this formation
-two ducks in front of a duck, two ducks behind a duck and a duck
between two ducks?

1) 3 2)5 3)7 4)9

48. A shepherd had 17 sheep. All but nine died. How many was he left with?
1)7 2) 8 3)9 417

49. Aruna cut a cake into two halves and cuts one half into smaller pieces of
equal size. Each of the small pieces is twenty grams in weight. If she has
seven pieces of the cake in all with her, how heavy was the original cake ?

1)120 gms 2)140 gms 3) 240 gms 4) 280 gms

50. A tailor had a number of shirt pieces to cut from a roll of fabric. He cut
each roll of equal length into 10 pieces. He cut at the rate of 45 cuts a
minute. How many rolls would be cut in 24 minutes?

1)32 Rolls 2) 54 Rolls 3) 108 Rolls 4) 120 Rolls
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(Question nos: 51-55)

Directions: In each of the following questions, the problem figures is a pattern
with a portion missing. Identify that portion from among the four answer figures.

S1.
{N
Answer Figures
() (2) () (4)
1)1 2) 2 3)3 4) 4
S52.

\
JA= SR

Answer Figures

4 A LA V

(1) (2) (3) (4)
1)1 2) 2 3) 3 4) 4

- m

Answer Figures

] K
(n (2) (3) (4)
1)1 2) 2 3)3 4) 4

54.

Answer Figures

(N (2) (3) (4)

1)1 2) 2 3)3 4) 4

10



55.

I

Answer Figures

| L

(n (2) (3) (4)

1)1 2) 2 3)3 4) 4
(Question nos: 56-57)
Directions: In each of the following the words on the left of:: symbol is related in
some way. Similarly find the word that will make the same relation in place of ?
56. Music: Rhythm:: Design : ?

1) Symmetry 2) Technical 3) Architect 4) Building
57. Protein: Milk:: Nicotine : ?

1) Nectar 2) Tobacco 3) Coffee 4) Wine
(Question nos: 58-62)
Directions: The following diagram consisting of four overlapping figures represents
four segments of leaders; the triangle represents rural, square females, the
rectangle educated and the circle corrupt. study the diagram carefully and
answer the questions.

|3 —+=Educated

8 = Corrupt
4T (2] o

Females=t- §

Rural

58. Rural female leaders who are corrupt but not educated represented by
1) 1 and 4 2) 3 and 4 3) 4 4) 1

59. Non-female rural leaders who are neither educate nor corrupt are
represented by
1) 10, 11, 14 2) 10,11, 12 3) 11, 14 4) 10, 11

60. Non-female corrupt educated leaders are represented by
1) 7 2)7,8 3) 12, 16 4) 7,8, 16

61. Neither corrupt nor educated non-female leader are represented by
1)13,9 2) 14, 11 3) 12,13 4) 2,3

62. Neither educated nor corrupt rural non-female leaders are
represented by
1) 14 2) 14,11 3) 11 4) 14, 10

11



(Question nos: 63-67)

Direction:
63. If MADAM is coded as SOLOS, how is CIVIC coded as
1) KAYAK 2) POLITE 3) REFINED 4) URBANE

64. If BODY is coded as DQFA, what is the code for MIGHT?
1) OKHTV 2) NJHIU 3) OKIJV 4) NJITU

65. In a certain code VIM is coded as ADR, what will be the code for LAUNCH
1) QVZIHC 2) GFPSXM 3) QFZSHM 4) GVPIXC

66. If GUN is coded as KYR, what is the code for DOCTOR?
1) HSGWSY 2) HSGXSY 3) HSGXSV 4) GRFWRU

67. If GOLD is written as LSOF, then PACK is written as
1) UFEM 2) TDGM 3) TEGM 4) VEFM

68. Ramesh is 16 years of age. In four years’ time he will be twice as old
as Naresh was a year ago. How old is Naresh?
1) 10 2) 8 3)9 4) 11

69. 1 go 20 m to the south of my house then turn to east, I go 10 m then
I turn to the north to go 30 m. How much distance away am I from
my house?

1) 5V2 m 2) 102 m 3) 15V2 m 4) 20V2 m

70. Five girls are sitting in a row. Pratima is on the right of Mona. Nidhi
is on left of Mona., but is right of Natasha. Pratima is on the left of
Anu. The girl on the extreme left is
1) Anu 2) Natasha 3) Pratima 4) Nidhi

71. In a queue Sohan is 9th from the back. Ramesh place is 8th from the
front. Radha is standing in between the two. What could be the
minimum number of boys standing in the queue?

1) 8 2) 10 3) 12 4) 14

72. Roma is Jatin’s sister. Mona is Jatin’s mother. Dev is Mona’s father.
Lalita is Dev’s mother. How is Roma related to Lalita?
1) Daughter 2) Granddaughter 3) Grandmother 4)Great granddaughter

73. 1 walked 10 metres towards the east of my house. Then turned north
and walked 15 metres straight, then I turned West and walked 10
metres. How far am I from my house now?

1) 10 metres 2) 15 metres 3) 25 metres 4) 35 metres

12



74. 1 am facing East. Turning to the right I go 30 m, then turning to the
left I go 30 m, and then turning to the right I go 60 m, and then
again [ go 60 m to the right. In which directions am I from my
original position.

1) East 2) North West  3) North 4) South West

75. What is the number of straight lines and the number of triangles in the given
figure?.

1) 10 straight lines and 34 triangles 2) 9 straight lines and 34 triangles
3) 9 straight lines and 36 triangles 4) 10 straight lines and 36 triangles
76. Find the wrong number in the series:
445, 221, 109, 46, 25, 11, 4
1) 221 2) 109 3) 46 4)25

(Question nos: 77-80)
Direction to Solve: P, Q, R, S, T, U, V and W are sitting round the circle and are

facing the centre:
1. Pis second to the right of T who is the neighbour of R and V.

2. S is not the neighbour of P.
3. Vs the neighbour of U.
4. Q is not between S and W. W is not between U and S.

77. Which two of the following are not neighbours?

1) RV 2) UV 3) RP 4) QW
78. Which one is immediate right to the V?
1) P 2)U 3) R 4) T
79. Which of the following is correct?
1) P is to the immediate right of Q 2) Ris between U and V
3) Q is to the immediate left of W 4) U is between W and S
80. What is the position of S?
1) Between U and V 2) Second to the right of P
3) To the immediate right of W 4) Data inadequate.

81. A is B's sister. C is B's mother. D is C's father. E is D's mother. Then, how
is A related to D?
1) Brother 2) Son 3) Uncle 4) Son-in-law

13



82. Pointing to a person, a man said to a woman, "His mother is the only

daughter of your father." How was the woman related to the person?
1) Aunt 2) Mother 3) Wife 4) Daughter

83. A woman introduces a man as the son of the brother of her mother. How is
the man, related to the woman?
1) Nephew 2) Son 3) Cousin 4) Uncle to Grandson

84. The angle of elevation of a ladder leaning against a wall is 60° and the foot
of the ladder is 4.6 m away from the wall. The length of the ladder is:
1) 2.3m 2) 4.6m 3) 7.8m 4) 9.2 m

85. The simple interest on a certain sum of money for 2(1/2) years at 12% per
annum is Rs. 40 less than the simple interest on the same sum for 3(1/2)
years at 10% per annum. Find the sum.

1) Rs. 600 2) Rs. 666 3) Rs. 780 4) Rs. 800

(Question nos: 86-88)

Directions:
86. If banana is apple, apple is grapes, grapes is mango, mango is nuts, nuts is
guava, which of the following is a yellow fruit?
1) Mango 2) Grapes 3) Apple 4) Nuts

87. If clock is called television, television is called radio, radio is called oven,
oven is called grinder and grinder is called iron, in what will a lady bake?

1) Radio 2) Oven 3) Grinder 4) Iron

88. If rat is called dog, dog is called mongoose, mongoose is called lion, lion is
called snake and snake is called elephant, which is reared as pet?
1) Rat 2) Dog 3) Mongoose 4) Lion

(Question nos: 89-91)

Direction: In each of the following questions find out the alternative which will
replace the question mark.

89. kEAc: cAEk:: xGMf: ?
1) GmcF 2) FmgX 3) EgmX 4) EmgF

90. MXN: 13x14::FXR:?
1)14X15 2) 5X17 3) 6X18 4)7X19

91. REASON: SFBTPO::THINK : ?
1) SGHMJ 2) UIJOL 3) UHNKI 4) UJKPM

14
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(Question nos: 92-96)

Direction: In each of the following problems, a square transparent sheet (X) with a

pattern is given.

92. Figure out from amongst the four alternatives as to how the patter would
appear when the transparent sheet is folded at the dotted line.

...................
3 N b

A OB R OE R

(X) (1) (2) (3) (4)

1)1 2)2 3)3 4)4
93. Find out from amongst the four alternatives as to how the pattern would
appear when the transparent sheet is folded at the dotted line.

(X) (1) (2) (3) (4)
1)1 2) 2 3)3 4) 4

94. Find out from amongst the four alternatives as to how the pattern would
appear when the transparent sheet is folded at the dotted line.

D E@c<

....................

(X) S @ @) ()
1)1 2) 2 3)3 4) 4

95. Find out from amongst the four alternatives as to how the pattern would
appear when the transparent sheet is folded at the dotted line.

% B 868

1) 1 2) 2 3) 3 4) 4

96. Find out from amongst the four alternatives as to how the pattern would
appear when the transparent sheet is folded at the dotted line.

AR IRl IR AL |R]
X) nyo@ © @
1)1 2)2 3)3 4)4



97. Rakesh scored more than Raju
Ravi scored less than Rakesh
Raju scored more than Ravi
Ranga scored more than Raju but less than Rakesh
Then who is the top scorer among them?
1) Rakesh 2) Raju 3) Ravi 4) Ranga

98. The difference between the place value and the face value of 7 in the numeral
967452 is
1) 6393 2) 5831 3) 6993 4) 6339

99. How many numbers up to 300 and 700 are divisible by 2, 3 and 7 both
together?
1)7 2)9 3)11 4)5

100. A pupil's marks were wrongly entered as 83 instead of 63. Due to that the
average marks for the class got increased by half (1/2). The number of
pupils in the class is:

1)10 2)20 3)40 4)7

16
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1) 56 2) 28 3) 40 4) 112

aufl(pemm ( eflerm  erevor  12-15):  Uleireu(phld speuGleun(p Caerailseafley|n &ev
T(p5GISsaflen el eupRSLLGHDG. QHS T(PHBISSH6T  HOT 6L6VG [HIF6L
alfleng eumrflwns @ GOILUILL CursHams LerummisHlermenr ereflev, allGULL
(PS5 GISH6T / LHLUDUS SHevTLMHlle]Ld.

12. CaaTaN&GMSHSHTET  LSmeVs SIT6u15?

&) @ @
@ @ @©®
&) @ @

1) 24 2) 23 3) -23 4)15

13. CaHemal&@GMSHT6T LISeNeVs SHIT6uo1s?

3) 9 4) 16



14. D65 6IqIGHME QSTEIIL S ML 61h% LLSHMG 2 (HeUT&HGLD?.

TN [l W
] | % % 4:_6‘
Ha AR

q

R
2l

3

1) B 2) A 3)D 4) C

15. CaemeN&@GMN&SHTETT LSHlene0s &T6iors?

& 4 4 1
4 N L T
8 u T 1
6 10 14 2
1) P 2) Q 3 R 4) S

aufl(pemm (edlerm 6r6vor 16-19) : A, B, C LOMMID D 60 2_6iTen UL Ma&ef60 61hg UL GHleL
X 60 2 6Tem ULLD QUITHHE (LDMMHEI) 266 2.

C [ AR
(X) (1) (2) (3) (4)
1)1 2) 2 3)3 4) 4
(X) (1) (2) (3) (4)
1)1 2) 2 3)3 4) 4



X) (1) (2) (3) (4)
1)1 2) 2 3)3 4) 4
19' L[| |ooo|s=n L
mp| == e (%) gl
(X) (1) (2) (3) (4)
1) 1 2) 2 3)3 4) 4

aupl(pemm ( el eT6vor 20-23): CHT(HSSLILL (RelTan BHesl@ ellenL&eNeL 61%H HBHHH
upGeusii(RLd 16T CHIHOS(HEHGI 6T(LHSIS.

0.
2 rOalooo|odo|oca 2
¢ O o Fal
1y @ 3w
1) 1 2) 2 3) 3 4) 4
21.

Irnjogolu-e

L 1 I I I B
(1) (2y  (3) {4)

1) 1 2) 2 3)3 4) 4

- HEHEEE 2 H
HE HE BHE EH

1) 1 2) 2 3)3 4) 4




23. QaME&sUULL. ULSSleL 2 6am (PSCHTEMIMIGET OHMID &&INhiSeTest
ETEOOTETN SN SEMW &H600T(H 6T(LDSELD.

1) 44 (WP&HCHMEMIMIGET, 10 &F&IFhIG6T 2) 14 (W&CHTERIGET, 16 FHITHIGET
3) 27 (P ECHMEUMIGHENT, 6 &FSHITHISH6I 4) 36 (PECHTEUMIGET, O &GINHIG6I

aUPl(pemm ( Q6O  6T6B0T  24-25): LLID (X) 60 2616 eUqeuhGHmens Q& mes®
Qer@&esuuLGeTer ULMmGET (1), (2), (3) WLOMID @) PHWDEUSEHET 615606
2 (H6UMSHS6VITLD?

24, > —
(X) (1) (@2 3 @
1) 1 2) 2 3)3 4) 4
25.
o g |2 018ta”3
v3© RW|toz2d eloP
(X) (1) (2) (3) (a)
1)1 2) 2 3)3 4) 4

auLfl(pemm (eileorm erevor 26-27): LeTeuBLd speuQeun(m Caetallseaflgind, Qasr@GeesUurL
(X) uLgdlett eflwimen sevorewermiy LIDUSMS IHEWIL6T QSHTHSHSULLL HIT6HTS
rmmiseaflsv QHg CHTQAFIIS.

26.
2 1 RE Y
X 1 2 3 4
1) 1 2) 2 3)3 4) 4
B AEVCINIRZIN
X 1 2 3 4



1)1 2) 2 3)3 4) 4 1012

euLfl(pemm (eleorm eTevor  28-29): Liletreu(HLd speuQeum(mp CoHemailsaflenid , 2 MmisEnhsHE
6T(LPSHGISHSH6T LDMHMILD/IELEVF)| 6TEHITSHOM6HT HeLMEUWMGLD , MGSH CSHTLTHE HT6H(S
LOTMHMISET (1), (2), (3) WMMID ( 4) 2-6Tener. QASTHSHSUILULL SHeveneuulledr BHij-LL G605

@55 BSG LTHOMS CHTOCFIIS.

28. ACOUSTIC
(1) ¥OONS LIC (2) veonalic
(3) YCONSLIC (4) vconaT Ic
1)1 2) 2 3)3 4) 4
29. E8t4e9C

(1) 383490 (2) E81hSCD
(3)38ive6C (4) E8I¢€3C

1)1 2) 2 3)3 4) 4

aULf(emm ( aiflerm eT6vor 30-31): CETHSSLLLL HMem  (X) O(BHE 2 (HeUTSHSLILILL
QULIgeOW! 6258 QUL IgenWSH CHIT6CFIIS.

30.
i,
(x) (1) (2) (3) (4)
1) 1 wmmib 2 L H'GL 2) 2 bomib 4 wL_HGW
3) 2 womib 3 WL HGW 4) 1 woOMIDd 4 WL HGW
31.
=]
o I=
=l X : )
o R or =] e
x) (1) (2) (3) (4)
1) 1 womib 2 L GGw 2) 1 womibd 3 L EGW

3) 3 wOHMID 4 WL GG 4) 1,2,3 womib 4 L HGCW



1012
32. ACEGI, JLNPR, SUWYA, KMOQS

1) LBGHI 2) LIFH 3) YWXAC 4) BDFHJ

33. LU §&6L T6tTLG ML 60T QHTL LML UG, CH auflufied Calemen 61&HsnIL 60T
QST LML LLIGI?
1) w6soILD 2) GeusmeveumiiLiL] 3) SisyiLieULDd 4) 2 L 60TLIG S6M8

34. (RULL 61(PSGISS6N e16016m6001S GCHIHCSH(HSHSH6LD
NAJ31 , BEF28, RAM31,-------- YAM31
1) RPA31 2) BRA30 3) RPA30 4) PAR31

35. A¢teorug +’, B etetiug -, C eteorlH X, ¢T6vileL, (10C4) (1) (4C4) (B6) 61
LOGILIL| 6T6OT6DT .
1) 30 2) 60 3) 50 4) 56

auLfl(emnm ( eflerm erevor 36-37): HCLp QaMHSSULL(Been Casnallgafled ¢peuQeuTaTMILD
CLOEITM)| FamIGen6nsd Q&meuI(Reneng. Qbhg FamiGen oo QenL Q6M6UOILILIS6M6NS
Q&IT6UIT (FHSHEVITLD {6LEVG| @6LEVMLOEL @\(HHSHEVIMD. 2 MILILGH6ET6T §6UCEUT(F (& (LD6YLD
@D, (2), (3), LOHMILD / SLEVG (4 ) Q6L QHG EUMTLL MRIG6TEL 601D CUIT(HHS&Fa(BLD.
QUMILL MISEGL 68T FHlWITG QUTBHSSFalgWw 2 MILLSee G (e CHITHESHESHeLD.

36. NeTeU@BLD eUMILL MIGHETN6D CLIGTIISEIT, HTILDTTE&HET OMHMILD
QurluweonenisErdh@& QenLuleomer HMHE 2 Meneusdh GNSHMGI?

1) @D 2) 3) QOQ 4)

37. MedTeu(hd euUMIUL MIG6N6L 618 HITLTAFILIT, UPSESMIEh) MMILD LITL &I
QenL_CGuiwimest &iMHG 2 Memeld GMESHMEG!?

G 1% @

38. §CLp smLL LUl (RefTer UL Misefled 618 Lsmaful Ul L. CaM g6 L) OIS &M6D,
QF6l6US SlGHHENTHGHIL 60T Falqll LNJOIL Qllgel QUL IGemI 2 (HeUTHGL?

(a) (b) (c) (d)

1)a 2)b 3)c 4)d




39. el6nlm LIL-G&l6L 2 61161 6lIgUMRIGMETS C&MTan(h Q&T(HS&sSLILL (heTar eNemL

UL RI&6T (@), (b), (c) mmID (d) QENLIENEUSBELET 6THEM6T 2_(1h6UTEHSHEVMLD?
Problem Figure :
(A O 4’
[\ g
Answer Figures

EAPSPA

(a) (b) (€) (d)

1) a 2)b 3) c 4) d

aflpenm (eileorm eTevor  40-42): KlsiTau@bd allarmsseaflsv CastalsHGMNUILL QL Gms
U5 QFLWSEEaIgW QUTHEGLWMe allmLmws CHIHASGSHS! 6T(.055.

1) 60 2)50 4)21
41.
5
32 ? 44 7
6
1) 33 2)38 3)32 4)37
42.
1 3 1
3 5 2 4 0 @ 2
4 n] 8

1) 660 2)670 3)610 4)690



QULN(EmM (QIl6BTIT 6T 6voT 43-44): Neteu@d elleimsefleo oo 61(10SG)& 6N LYY
GMIUAILL 2 melleruly QsTEH&HsUULBeTarer. Qeummier QUTBHHTHMS CHIHASHG S

6T(L0 8IS
43. QUTBSHHLMHMMG CQGHFHEASHE.
1) YDWB 2) TKRI 3) QNOM 4) HLFJ

44. QUTBSSWLHDMS CSFHES G
1) OUSF 2) PIGS 3) TEPJ 4) XLPA

QUMM (QII6OTIT eT6var 45-50):
45. @@ HHeng H6g L&eNLLD, "Bhi&eT NDheHGCUTE HIT6r 2 miseT HNHELTENGLL
QWS QBHCHeT HHenuilett HFHCLTMGUI LIS 36 6T6516V, LBHGI
S BNGSHEHHES (LP6oTL HMIeesiledT 6IG) 6T6oT601?
1)13 2)15 3)17 4)20

46. A,B,C,D DOMID E HECWMT FLG aNenanim_iqemest o (H&6TmenT). A eT6TLeI] B
UNLLD "6T6018@ Brugen cpsiim FLGHeamen Qa&T(HSSMeL 2 hiGafL LD E-ullL b 2 eltern
6T6RuTeuN SH6nSHUTNL FL (6T QHSHGLD, HIT6T 2 MISEH&HE CLpeIm FL(hoHenern
QaMESEHSTL 2 MIGMLLD D-UlLLD 2 66 sT6niaaN&HensUTNL FL(HS6T QHSGLW. A
MO BulLdD OHMID EWlLLD 2 deammgall 10 HSHSHLMS 2 6T6g. B 6ugd C
WL o emenemgall. Qsini(h FLB&6T &L WwHMID Qs FL(bsener
6TEUUTGUUTI &6m& 133 6T6vTl6L B WILLD 2 6imen &L (H&6MetT 6160016005608 UITS)?

1)22 2)23 3)25 4)35

47. @ eungdlent (Lpeor Qe QUTHSISH6N, (b UTHH6T NeoT QU 6UTSHGISH6I
HMID Qe aurdgHisaner QenLuiled e UTHH 6T60TM EMLOLILTNEL
Phd&Healqll GODHELILE 6UTEHGISH6MN6T 6TEHUI6UNSHENS WITS)I?

1) 3 2) 5 3)7 4) 9

48. e(p GCLWILMTENIL S0 17 g (H&6T QBHEH6. UGV €R6TLG Ha LMHMEm6
@mhgIeNL L 6T, eustilL LD L& (Lp6iTen o) (HEH6T 6188 6m60T?
1)7 2) 8 3)9 4)17

49. ST e(h CHEHMSE QU6uI(h LURIGSHNTS GQeul lg, SH6L 6(H LUTHenW! &LO
Sleneyernan HM HGN(HSHETE G Ig6vTme. epedbleum® Hml Slewoi(hd QLS
b el QBHHGH. SOHCUTG SeuafL b g SicThseT G 2 6ol 6Teufled,
WP CaH&Sl6 6TemL 6T6dT6wI?

1)120 &ygmb 2)140 &ymb 3) 240 &gmb 4) 280 &ymb

50. @5 M5 WL ST Gl6wfl & ([HefedOl(hHG FLMLSE@HSHSHTSH LIV &I6101(HS6IT Gl lg
T(h&s Geueirly Q(HHHSH. iU REUQEUT(H SF(HEMETWLD 10 FLO &|6voT(H&HETTSH
QeuL_lg6o1my. iUy MO &HMG 45 l6voT(h H6T afGHLD CleuL L 6uTmiy eT6ofleL, 24
HILOIL_ IS 6fl6L THGHM6 & (HTSHemen iUl GleuL 1quil,LLmy?

1)32 & 616 2) 54 s(men&en 3) 108 &(pesen  4) 120 &(h6NSel



auplpemnm (elleorm eresor  51-55): LeiTauphd ellarmésefléd @ GMOUUILL (Wammuilsy
2 atem eleoim UL GHH6L @ UGH GMDIHMG . UUGHmW QA&TOSHSUIUL (HeTer
allewL UL m&eNeNIBHE CHIHASH S 6T(1L&IS

51. efleorm LLLD ellemL ULLD
@ ILIE D
‘ (1 (2) (3) (4)
1)1 2) 2 3)3 4) 4
52. elleorm UL LD ellev) UL LD
A\ Y /
775 z /|l %
(1) (2) (3) (4)
1)1 2) 2 3)3 4) 4
53. elleorm UL LD allemL UL LD
(1) (2) (3) (4)
1)1 2) 2 3)3 4) 4
54. elledrm ULLD allewL ULLD
(1) (2) (3) (4)
1)1 2) 2 3)3 4) 4
55. elleorm UL LD allemL UL LD
(1) (2) (3) (4)
1)1 2) 2 3)3 4) 4

10



auLpl(emm (eleorm eT6vor 56-57): Llereu(bd allaimésafley (&L CRmiquile 2 eiren
QgrLjilemen &L Mibg S1CH ASTLIYmLW 1B HSH CRmiguilev afl(GuLrL
UMTHMGMWS &6vor(hLlg.

56. Qém&: FHHLD:: elIgeU6MDLIL] : ?

1) 0&E G6dT60LD 2) QamleomLUD  3) HLIQL &Sm0  4) SLigL LD

57. gsLd : umed :: MGCHMq.6or @ ?
1) L&NHSSHCH60T 2) yemsullemev 3) &mi 4) Sgr_eng ULEFFTM)

QULN(emM (QIl6BTIT 6T 6vdT 58-62): LT6oTeU(HLD LIL&&H6L BIT60T& 6REOTMIL 63T 665TM)
Q&TLJL6MLUI [HTEITE 6LIG6UMRIGET 2666 : (W&CHMETILD HFTLLMS SH6L
QIflluITSmeTULD, &FHTD CUETSHMETU|D , CF6USID LigSHFHEUTHMETUID LDMHMILD
QILL LD 261peLRUTSGHEMEILD GMSHMGI 6T6viled , LNetTeUBHLD LIL SHH6M6uT HEUGLONG Y lii6)]
Qe CaHetalsEhsE LS6L Siafl&hsea]Lw..

|3 —= UIg&GeUTEHeT

14 12 : .
Mol S ety 8 - 26TLOELEUTS) G

! TN
31y

9

JA
m\ﬂ o

QUG HET  wd

58. Ug.&&Mg§ SNMLLM 261060 Hlemmbhs Gl Heanevaljsemen GMOILNHaIS
1) 1 womiwb 4 2) 3 wmmitd 4 3) 4 4)1

59. 26Mp6d QFWILINTS, LIQ&HSMTE LDMOMID CILIGTIHET 060N HPMLOLILM
Gemevaursenear GMILLN(Heus)
1) 10, 11, 14 2) 10, 11, 12 3) 11, 14 4) 10, 11

60. CQueu&e SleLeuMS 2a1peL HemmbHS LIgHS Hemevaugsenear GMHILNG IS
1) 7 2)7,8 3) 12, 16 4)7,8,16

61. Ln&aMS, 2a1peLEUTH SlL6LMNE MMID CLIGTIIHET IELEVTSH &EMEVEUITSHEMET

GOUANGeusI
1)13,9 2) 14, 11 3) 12, 13 4)2,3

62. LIg &S LOMID 261p6L QFUILITG SPTOLILM CLETIT SI6L6VTH
HemevaUGemen GHILUTN(HeUS) .
1) 14 2) 14, 11 3) 11 4) 14, 10

11



aufl(wenm (aflerrm eTevar  63-67): LlsiTeu(pd eflarmssefley @@ GMUILE (Wemmuiled
@0 aldow uwau@sHd a(PsgIsEHHSG Udleons Gaiml Hev 6(PHGISH6T 606V
T &6 LWETU(RSSULGHMG]. Seubenm Sl Mibhg & flwmerr ellemLemwg

Co5IH05 655

63. MADAM ereirugl SOLOS ereur eT(lpgLILIGLOMGTTED, CIVIC 6T60TLIG) 6T6uUM M)
T(pSULELD?
1) KAYAK 2) POLITE 3) REFINED 4) URBANE
64. BODY ereorug| DQFA, erew er(pgLinomesrmev, MIGHT eT6trLIg) eTeueumm)
T(pSULELD?
1) OKHTV 2) NJHIU 3) OKIJV 4) NJITU
65. e GOUILL GMuiliged VIM eteiugl ADR ereur er(pgLuu@omerme, LAUNCH
ETEOTLIG] TeueUTM)| 6T(LPFHLILI(HLD?
1) QVZIHC 2) GFPSXM 3) QFZSHM 4) GVPIXC

66. GUN eteorugl KYR ereur er(lpgLu@omsmed, DOCTOR ereirLg) Teueumm)
T(PSULELD?
1) HSGWSY 2) HSGXSY 3) HSGXSV 4) GRFWRU

67. GOLD ereotugl LSOF eren er(lpsULGLOMaTT60, PACK 6T60TLIG) 6T6U6UT M)

T(PSULELD?
1) UFEM 2) TDGM 3) TEGM 4) VEFM

68. JCe6 WG| 16. BTG U60I(H&eTN6L Sieufler g BHCTaeT SLbHS
U6001(h QUG Q(HLOLMISHTEH QHHGSLD . 6168160 , HGIafeor
SOCLITENGU!  UUIZ| 6T60T60T?

1)10 2) 8 3)9 4) 11

69. BesT 6T6u1g & IgOBHE CHMGS CHTEA 20 1§ BLHG NeoT HLP&E
CrresA 10 B pLBCS 601 QSTLIHG U &G ChTHEA H@mwA 30 B smLbd
BLIHCH6E0T 6T63N6L , [HIT6IT 6T6oT6R) LI &)L 160 ([hHGHI  6TeMeU6eNTE)Y  CFHTemeLETNEL
2 61Gertedr ?

1) 5¥2 18 2) 102 I8 3) 15V2 1f 4) 20V2 1

70. Lh& QU6 eUlen&FUITS 2 L SMIHS(HSHMTISHET. NFHLM  GLOmesTTeX6dT
6U6LG| LIGSLD SIDNHGleemy . R, Gomestmelest @ILGILMSHVID
BLTQATENET  ULGHILMSHEVID  SIDTHGISTEMT . (NFSHILOT  ismieN6sT
QL SILMLD  UDIHGISTEMT 6163160 , QL HILMSHHL SHMLHUITS

12



SO (HLILIEUT WMy ?

71. @ euflemsuiev Comamsst LNSILMD QHHS €RELISTEUSHTS  HHAMIT] .
gGLDele (LMD QBHGI 6TLLTUSTS BHSAOM . JIST QHOUBESHSLD
QemL_uleL MMBMDITY . 6T63M6L , euflemguiev MM S&alqul LOM6TOTEUITSHEM60T
GEODHSLILG  6T6006I0N&H6005  LLITE| ?

1) 8 2) 10 3) 12 4) 14

72. Gymom w&ledss FCHTSHH . Gomesm @&levheor &Ml . Cheu GLomesmmeXNest
SHenG . LEOIHT CHENN6HT HMUI. 6T6aN6L , CIMOT ELEOSTEHNME  6TELIHSHUNEDL
2 M6 ?
1) D&er 2) Gus s 3) umig 4) QamenEpLICLS S

73. Brest eTenig el lge0[BhEH HPSHEG CHTHEA 10 1B BLbHE N6 &G
Copresa 15 1B pLBCHeT . QeTLihg Come CHreEs @ 10 1B gmibd
BLHCHEST 6163160 , [BHIT6IT 6T6dTenIMLUI Xl 1qeD(BHGI  6Teleene) CHTEmEVETIEL
2 61GerT60T ?

1) 10 .8 2) 158 3) 25 1 4) 35 8

74. BUssT HLP&HEG CHreHE MHACET . euevgIl MID SN 30 W BLbH& LNedT
AL SIS @G 30 W BLBHSCHer. (Nedteony eveuGHILMLOTEG H@HWA 60 LS
BLbBS LOMILIQUID  eueuGHILMLOTS H@GHWIN 60 5 S KL BHCHET 666D,
BITesT HOHCLITEH 61HHenFem  ChTHEA HHATCmes 2
1) H&EG 2) euL. GLmG 3) auLs G 4) Q&so1 GCLOMHG

75. QaMESSUIULL UL§HL 2 6ten CHI&ECHT(R&ET MHMID (LPSCEHTEUImIS6N
ETETTETN SN SEMI! &H6T0T(H 6T(LPSELD.

1) 10 Cry&Ganaen MMID 34 (LPEHCHTEIRIGET
2) 9 Cry&CHM(H&6T OHMID 34 (LPECHTEUIRISEN
3) 9 Cr&CHT(HSET OHMID 36 (PSCHTEIIMRIGET
4) 10 Cry&CHT(HR&ET LMHMID 36 (PECHTEUIHISEI

76. NetTeu(HLd QGHMLIflEL 2 6Tem G6UMMTe 6T63016M60018 &6601(HLIg &::

445,221, 109, 46, 25, 11, 4
1) 221 2) 109 3) 46 4)25
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euL(Lpemm (6O 6T 60T 77-80) : P, Q, R, S, T, U, V ommw W &Gy
QILL QIIG6ULDTE 6DLOWIGHENG LTTSHEH HLOITHSI6TErn6r)
1. P etettueuj R wMMID V 6@ SIh&HL 2.616em T 6@ 6U6vG LUSHD QIiIL TeUS TS
o_6ITeNIIy.
2. S eredrueu P 601 isto6nl eIl LMJ 2i606V.
3. V eredrueuy U et oisuotenl el Lmiy.
4. Q ereorueuy S LOHMID W &G QOLGCW Qevemev. W eteirueuj U wmMIb S &
QLG @Qevsmev.
77. Netteu(mHUeUTSHTN6D 616U @(HeUT Si6totenl el LM 2i60607?
1) RV 2) UV 3) RP 4) QW
78. WM V 60T 616V LISSHSH6L 2 6IT6niiy?

1) P 2) U 3) R 4) T

79. NewTeuU(BLD FaMHMIGHENlL FFIIT6S] 6187
1) P eteotiieu] Q 631 6U6LG| LISSHSHHEL 2 616y
2) R eteoreuy U womid V &@& QenL_Gul 2 eemiy.
3) Q ereotueuf W 601 QL& LU&SSHSHH6L 2 6Termiy
4) U eretiueuy W bpmib S &@& QenL Gl 2_ermenmij.

80. S 61 Ihlemev 6T6dT60T?
1) U mpmid V 6@ QenL_Guw 2) P 6i1 eueugl LUSH&H5HH60 Q6L M6,
3) W 6T 6u6vg| LU&H&SLD 4) g6y GCUTGHILLTETISHTS @eL6mev

81. A erettueuy B 61 #Canaifl. C ereirueuy B 61 smul. D eteoueuy C 601 HHeng. E
ereoTLIeU] D 601 ST 6T6oMl6L, A eT6dTLOUT D &G 6T6UEUMBUND 2 ME?
1) 8CGangIyy 2) LG 6HT 3) Lomiom 4) LD(TLDG 60T

82. @ BUMIS FLIGSHSHMLIG (H6U]T €(H GLIGILOGINUILLD » Si6U(HMLLUI STWITTST60T
2 MIG6T HHenguNer Gy LO&ET 6TETMMI. 67607160, SILICILIGHUILOETT HE HLI(HEHS
6T6UEUEMSUTIEL 2 M6)?

1) wmhl 2) S 3) enssre 4) WoGeI

83. @ Queiuiet ¢ WGy FHerg HTuNgienL il sCHETSHIII6N L&D 61601
SINUPSILGSHIEMM]. 61660, SIDLD6NFT HUICLGILDENSES 6TeUIMSBUTIL 2 M6)?
1) WO (HLDS60T 2) LD&60T 3) urusmef 4) GUIMISHE@ LDOMLOIT

84. (b geanwimeng 60° gHMCHTEGHMS MLEGSLTM FeunHmMiett g% Fmiiss)
smeUSSLILIL (BeTeng). gJamuNgmienL il SiqliuGH FeunmMeddhg 4.6 L Qgmenevaiied
2 _6T6eNG) 6T6oN6L, eJeuunuiledt Bemd WImg)?
1) 2.3 18 2) 4.6 18 3) 7.8 18 4) 9.2 18
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85. @@ GMUILL QHmemsuie W5 12% il lg eiFH&HSeL Q6L eni o4,6901(h 8 €SI
&6l el lquimeng SCH Qgmensules g 10 % eully eI& S0 eL6TmEnI
S ON(HSEpSHSHTET QUL IgemWIIL €. 40 G6MMEY 6T6rTleL, HHCFHTENSHEMUIS SHTEHS
1) em. 600 2) ¢m. 666 3) em. 780 4) em. 800

QULN(EmM (QIl6BTIT 6T 6voT 86-88): LleiTeu(pd 6T EH5H G Fflwimer allénLenwl
Ce&IH0s658 (98I

86. euMemPLILILPGMS Y LINeT 6TeoTMILD, SpLILTemen HPTLeng 6T6aTmILD, ST 60F 60U
LOMDLILPLD 6T6OTMILD LOMDULPG MG QST ML &6 6T60TMID G MSSHLIL(HGLOUITEIITED,
66k eu6eTeUMMIET 6% LDEh&6T HIm LILPLD?

1) LomDULPLD 2) siprLeng 3) opLiNei 4) Q&ML 6L Gl

87. &Q&MILD QFHTMLESHTLE 6TeIMID, QHTEMELSHSHTLE CrigGuim etarmid, g Guim
N6 6TETMILD, &M Tenel QUIHHTD eTeaTmID Tenel QuIHHID Q@bLbL
6T6OTMILD SIMLPSSHLILIGHCLOWITEITEL 62(1h ClLIGTIILOEIT 6T1Hl6L CIPMLlg &H(heumeT?

1) Grig Guim 2) emenr  3) spemey QuIhSTD  4) Qpidy

88. 6160 B 6TEIMILD, BT HHIL Leitemen eTearmID SHIL LNeimemen SMIGHLD 6T6OTMILD,
SMISLD UIMDL| 6T6aTMILD, LIMDL] WIM6M6UT 6T60TMILD SleMLPSSLILIGCLOWITEITED 618
Q&evevLl LNpmEENWITS eUaTJ&HSLLMGRSMSI?

1) 61601 2) mmi 3) &l MNeremen 4) imsLD

auflpenm (eileorm eTesor  89-91): Lereu(hld afleormssefley  Caerals@mé @ udeons
Qar@ssuuLBeter Hren@G allmL&eafledi(rihg  Fflwumer allmLmw CEHIHEASESHS

T(D§I5.

89. kEAc: cAEk:: xGMf : ?
1) GmcF 2) FmgX 3) EgmX 4) EmgF

90. MXN: 13x14:: FXR:?
1)14X15 2) 5X17 3) 6X18 4)7X19

91. REASON: SFBTPO::THINK : ?
1) SGHMJ 2) UIJOL 3) UHNKI 4) UJKPM

QULN(emM (QIl6BTIT 6T 6voT 92-96): Uaau@ld seuQeun@m eallarmaillgyid, @
algeusGiL et @ &7 OQeeflluumLwmer  gmer (X)) euprusUUGSIDGI.
yerefullour L. euflullev  QeuefliuenLwimesr gmelm LK &SSULELCUTE CHTeTMILD
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96.
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gG&ee Jregosmealaill. SiHls SIS CLMMIETENT)
gell gnCHemagaill GemmbS LSLIGLISET CLMMIETENTY
preg® gallemall SIH& WHUCUGISET CILmmIeTenT.

TRIST [rgoamelal HHSWLISHEID [JTCHmaeall. GMMHS LOSHLICILIEHS EpLD
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1) prGseaQ

2) pegD

3) gl
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98. 967452 61601 6T6vI6WIN6L 7 601 QL LFHILSGLD (P& LHULSGWD QenLGul 2 eiern
QNS SILITFLD :
1) 6393 2) 5831 3) 6993 4) 6339

99. 300 d(BHG 700 eueny 2 6o Q6Hu(h 6TLEMEVGHEMATUILD 2 6IToNTL S
sTuuI&Heley 2, 3 MMID 7 6L UGLLSFalqll 6TEHUSHET 6185 6016012
1)7 2)9 3)11 4)5

100. @ omeviadesflest OFLICILGTTT 63 6T6TUHMEG LSl6LNE: HaIMIGH6eoNs 83 6Teur
2 eTeMLLILL L& SH60TT6L SeueU@GLIN6T FHMFHuled Siem) HLIQLIETIT FolgUi).
6163160, SieUUGLILN6L 2 6iTam GILDM& S LOMETUTEU] 615 56016012
1)10 2)20 3)40 4)7
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PART - 11
SCHOLASTIC APTITUDE TEST

INSTRUCTIONS

(1)
(2)

3)

4)

Answer all the questions. All questions carry one mark each

Since all questions are compulsory, do not try to read through the whole
question paper before beginning to answer.

Begin with the first question and keep on trying one question after another
till you finish all the question.

If you do not know the answer to any question, do not spend much time on
it but pass on to the next one. Time permitting, you can come back to the
questions which you have left in the first instance and try them again.

Since the time allotted to this question paper is very limited, you should
make the best use of it by not spending too much time on any one
question.

Separate sheets have been provided for rough work in the Question Booklet
itself.

The answers should be marked on a separate answer sheet provided in the
Examination Hall.

The answer sheet has two parts corresponding to Part — I and Part —II of the
Test.

Answer to each question is to be indicated by shading the number of the
correct choice in the answer sheet with black ballpoint pen from amongst
the ones given for the corresponding question in the test booklet.




PART 11 1 0 2 1 )
SCHOLASTIC APTITUDE TEST - NOVEMBER 2019

Duration: 2 Hours Max Marks: 100

SCIENCE

1. The least count (LC) of a Vernier Caliper is 0.01 cm and that of screw gauge is 0.01 cm.
Which one is more precise?
1) Screw Gauge 2) Vernier Caliper 3) Both are not precise 4) Both are equally precise
2. The velocity - time graph of an object moving along a straight line is as shown in the figure.

The distance covered by the object between t= 0 to 4 s is

Y
F 8
W ms! f= <
T 20ms! = A =
v ms ! e
v i ' L i '\_
© 2s 43 63 7.5s )
t(s) ———d
1) 80m 2) 60 m 3) 40 m 4) 20 m

3. A person of 60 N weights descends in a lift with acceleration 2ms-2. The cable of lift
Suddenly breaks down. The weight of the person inside the lift is
1) 58N 2) ON 3)30 N 4) 62N
4. A boat having a length 3 m and breadth 2 m is floating on a lake. If the boat sinks by 1 cm

When a man gets on it then the mass of the man is

1) 120 kg 2) 60 kg 3) 72 kg 4) 80kg
S. The work done to move a unit positive charge from a wire at 100V to another wire at 100V is
1) 0J 2)25Jd 3) 50J 4)200J

6. A wire of resistance 8 R is bent in the form of a circle as shown in the figure. What is the

Effective resistance between the ends of the diameter AB?

1)2R 2)4R 3)8R 4) 16 R
7. The magnetic lines of force inside a magnet is from

1) North to South 2) South to North  3) East to West 4) West to East



1) The bottom half of image will disappear 2) The top half of the image will disappear

8. The mirror which produces the magnifications of m> -1, m <-1 and m > +1 is
1) Convex mirror 2) concave mirror 3) plane mirror 4) spherical mirrors

9. If the top half of a convex lens is covered with black paper, then

3) The magnification will be reduced to half 4) The intensity will be reduced to half
10. The temperature at which Celsius and Fahrenheit scale thermometers read the same value is
1) 400 2) - 400 3) 450 4) 500
11. A boy in a hill station calls his mum but she could not guess from where her ward calls
due to reverberation. This is because of the distance between the boy and the hill is less than
1) 34 m 2) 27 m 3) 17 m 4) 5 m
12. The shooting starisa
1) An asteroid 2) a star 3) a piece of celestial rock entering earth’s atmosphere 4) a comet

13. Find the unmatched pair

1) Fertilizer - Phosphorus

2) Computer Industry - Silicon

3) Toothpaste - Fluoride

4) LPG - Butane and Methane

14. The below figure represents

® e

Baoron Iéﬂ. Carbon ’E::

1) Isotopes 2) Isobars 3) Isotones 4) Isomers

15. The mass percentage ratio of Carbon and Hydrogen in Methane is

1) 1: 4 2)4:1 3)1:3 4)3: 1
16. Match the following

i) 69g of Na - a) 0.25 moles

ii) 11.2 litres of O2 - b) 3 moles

iii) 12.046 x 1023 atoms of Fe - c) 0.5 moles

iv) 1.5 x 1023 molecules of Ho O - d) 2 moles
1)i-b,ii-c,ili—-d,iv-a 2)i-c,ii—d,ili—a,iv-Db
3)i-d,ii—c,ili—b,iv—a 4)i-a,ii—-c,iii—-d,iv-b

17. The element Arsenic has the properties of
1) Metals 2) Non-metals 3) Metals and Non-metals 4) neither metal nor non-metal
18. During extraction of iron roasted ore, coke and limestone are mixed and smelted in the ratio

1)4:2:1 2)1:2: 4 3)8:4:1 4) 1: 4: 8



19. Find the odd one out based on the composition of metals

1) Brass 2) Bronze 3) Duralumin 4) Magnalium
20. The oxidation number of Chromium in K2Cr; O7 is

1)+ 6 2)-6 3)+2 4)-2
21. Match the following

Colour of flame Inference
i) Brick red - a) Zn 2*
ii) Golden yellow - b) K *
iii) Pink violet - c) Na *
iv) Green fleshes - d) Ca2*
1)i-d,ii—a,iii—c,iv—-Db 2)i-c,ii—d,ili—a,iv-Db
3)i-b,ii—-c,ili—d,iv-a 4)i-d,ii—c,ili—b,iv—a

22. Among the following resin codes which plastics are unsafe?
1) 1 and 2 2)2 and 3 3) 3 and 4 4) 3 and 6
23. The groups responsible for the colour of an organic compound is called
1) Isotope 2) Auxochrome 3) Chromogen 4) Chromophore

24. Pick out the odd one out depending on nature of the substance .

1) Silica gel 2) Quick lime 3) Con. H2SO4 4) NaOH
25. Biochemical substance derived from leech saliva used as the medicine for
1) Hyper tension 2) Diabetics 3) Jaundice 4) Goitre
26. Matching
A. B
a) neurogenic. i) vertebrate.
b) myogenic. ii) contraction
c) Systole. iii) relaxation
d) diastole. iv) annelids
1) a-iv, b-i, c-ii, d-iii 2) a-i, b-ii, c-iii, d-iv
3) a-iii, b-i, c-iv, d-ii 4) a-ii, b-iii, c-iv, d-i
27.
Photasynthesis
W o "
Ught - canin W
B > S
N.(/)\u: (JW 00,

From the above diagram fill the boxes

1) H20, glucose 2) Oz, H20 3) H20, sucrose 4) Fructose, CO>



28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Which Ray is used to induce desirable mutations in crop plants

1) Beta rays. 2) Ultraviolet rays 3) Gamma rays 4) Alpha rays
is the instrument which records the electrical impulses of brain
1) Electroencephalogram. 2) Electrogram
3) Electroepicephalogram 4) Electro echogram
Thyroid gland requires ____of iodine every day for the production of thyroxine.
1)120 pg 2)150 nug 3)200 nug 4)125 ug
Matching.
A. B
a) Parenchyma tissue. i) protection
b) Chlorenchyma tissue. ii) support
c) Collenchyma tissue. iii) photosynthesis
d) Sclerenchyma tissue. iv) food storage
1) a-iv,b-iii,c-i,d-ii 2) a-ii,b-iv,c-iii,d-i
3) a-iii,b-ii,c-i,d-iv 4) a-i,b-iii,c-iv,d-ii
Which act as aging clock in every cell

1) Centromere 2) Telomere 3) Metamere

Archeopteryx is the oldest known

1) Fossil bird 2) Fossil reptile 3) Fossil animal
Promote the elongation of stems.

1) Auxins 2) Coleoptiles 3) Cytokinin

Storage function is done by

1) Parenchyma  2) Collenchyma 3) Schlerenchyma
Which one of the following is not a monosaccharide?

1) Glucose 2) Sucrose 3) Fructose
Which element is rich in bananas?

1) Calcium 2) Sodium 3) Potassium
Which of the following is a double antigen?

1) MMR 2) DT 3) TAB
Which organisation supports conservation of Nature?

1) UNO 2) UNESCO 3) IUCN
Which is the hydrophyte that lacks roots?

1) Hydrilla 2) Vallisneria 3) Eichhornia

4) Anamere

4) Fossil snake

4) Zookinin

4) Schlerids.

4) Galactose

4) Iodine

4) BCG

4) WHO

4) Wolfia



41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52. The Pamir Knot is popularly known as the

53. The Indian Board for Wild Life was constituted in

SOCIAL SCIENCE

Naval battle of 1916 in North Sea is called
1) Battle of First Balkan 2) Battle of Second Balkan
3) Battle of Jutland 4) Battle of Verdun

Due to which treaty, Russia withdrew from the First World War?

1) Treaty of Versailles 2) Treaty of Bucharest

3) Treaty of London 4) Treaty of Brest-Litovsk
Mandela was imprisoned for _______ years

1)29 2) 28 3) 27 4) 26

Who wrote the pamphlet, “French Colonialism on Trial”?
1) Hochi Minh  2) Mao Tsetung  3) Herzog 4) Smuts
Which party played a major role in the formation of Weimar Republic?
1) Nazi party 2) Fascist party 3) Social Democratic party 4) Unionist party
The city at the back of Volga was
1) Berlin 2) Munich 3) Stalingrad 4) Danzig
North and South Vietnam united in
1)1975 2) 1976 3) 1973 4) 1974
First President of Palestine was
1) Nasser 2) Saddam Hussain 3) Hafez-Al-Assad 4) Yasser Arafat
As a counter to the NATO, Soviet Union made
1) NATO PACT 2) WARSAW PACT 3) CENTO PACT 4) SEATO PACT

“SATI” was abolished in

1)1827 2) 1829 3) 1826 4) 1828

River is known as the Sorrow of Bihar

1) Narmada  2) Godavari 3) Kosi 4) Damodar

1) Roof of the world 2) Roof of India 3) Abode of Snow 4) Eastern Himalayas

1) 1950 2) 1962 3) 1953 4) 1952

S54. Seshachalam Hills Biosphere Reserve is located in

1) Odisha 2) Andhra Pradesh 3) Tamilnadu 4) Kerala



55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

The largest dam in the world is

1) Mettur dam 2) Kosi dam 3) Hirakud dam 4) Bhakra-Nangal dam
The city which is called as the Manchester of South India is

1) Chennai 2) Salem 3) Madurai 4) Coimbatore
Tata Iron and Steel industry is located in

1) Odisha 2) Jharkhand 3) Tamilnadu 4) Chhattisgarh

The first nuclear power was commissioned in

1) Gujarat 2) Rajasthan 3) Maharashtra 4) Tamilnadu
The word “citizen” is derived from language.
1) Greek 2) English 3) Latin 4) Spanish

Under which article state emergency can be proclaimed?
1) Article 352 2) Article 356 3) Article 360 4) Article 368

At present the Supreme Court of India consists of judges including

the Chief Justice.

1)30 2) 25 3) 28 4) 32
India is fastest growing nation in the world
1) Fourth 2) Fifth 3) Sixth 4) Seventh

The headquarters of WTO is located at

1) Geneva 2) New York 3) London 4) Paris
Indian government introduced in 1991
1) Globalization 2) World Trade Organization

3) New Economic Policy 4) All of these

The period called marks the beginning of agriculture and animal domestication

1) Paleolithic 2) Mesolithic 3) Neolithic 4) Megalithic
Which sailor was the first to cross the equator?
1) Henry, the navigato 2) Lopo Gonzalves
3)Bartholomew Diaz 4)Christopher Columbus
The region of terror ended with the fall of
1) Danton 2) Herbert 3) Napoleon. 4) Robespierre
Who invented the sewing machine?

1) Elias Howe 2) Eli Whitney 3) Samuel Crompton  4)Humphry Davy



69. An example of sleeping volcano is
1) Mounaloa, Hawaii 2) Mount St. Helen's US.
3) Mt.Fuji, Japan. 4) Paricutin, Mexico
70. Which is the highest waterfall in the world?
1) Nayagra. 2) Jog. 3) Angel. 4) Victoria

71. Which one of the following is a second order landform?

1) Asia 2) Deccan Plateau 3) Kulu Valley  4) Marina Beach
72. The diameter of a raindrop is more than mm
1) 3 2)4 3)5 4) 6

73. During sunset Cirrus clouds look colourful like

1) Mare's Tails. 2) Sheep clouds. 3) Cauliflower.  4) Woolpack clouds

74. National Institute of Oceanography was established in

1) 1964 2) 1965 3) 1966 4)1967
75. NOTA was first introduced in General Elections held in the year

1)2012 2) 2013 3) 2014 4) 2015
76. As on 2017 the numbers of recognized National parties are

1)10 2) 7 3) 12 4) 8

77. Who is called “Father of Local Government”?

1) Lord Canning 2) Lord Rippon 3) Lord Curzon 4) Lord Dalhousie

78. Leading solar power producing state in India is

1) Kerala 2) Tamilnadu 3) West Bengal 4) Andhra Pradesh

79. Credit card was invented by
1) Edwin 2) John Biggins 3) Gilbert 4) David

80. The National Remote Sensing Centre (NRSC) is located at

1) Bengaluru. 2) Chennai. 3) Delhi 4) Hyderabad
MATHEMATICS
81. If N is the sum of first 13,986 prime numbers, then N is always divisible by
1)4 2)6 3) Odd number 4)8
82. Find the value of a in the following 3_: 5 =a\'5 - b
3+25 11
-5 5 15 -11
Ui 20 8u 4



83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

If (\/3)5 x 92 = 3n x 34/3 Then the value of n is

1) 2 2) 3 3)4 4)5
The value of log, (logs625) is

1) 2 2)5 3)10 4)15
Value of x satisfyingvx+3 +/x—2=5is

1) 6 2)7 3)8 4)9

A two digit number is obtained by either multiplying sum of the digits by 8 and adding
1 or multiplying the difference of the digits by 13 and adding 2. The number is
1) 31 2)41 3)51 4)61

The sum of 11 terms of an A.P. whose middle term is 30 is
1) 320 2)330 3)340 4)350

ifa-[ 7, 2] B-[ P, 7] and AB-BA then find the value of p

1) 4 2)-4 3)3 4)-3

If the points A(3,5) and B(1,4) lie on the graph of the line ax + by = 7 Then the sum of
the value of ‘@’ and ‘b’ is

1) 1 2)0 3)-1 4)2

The points A(-4,-1), B(-2, -4), C(4,0) and D(2,3) are the vertices of a
1) Parallelogram 2) Rectangle 3) Rhombus 4) Square

Tan15° = 2 - 43 then the value of cot2750 is
1)7 +43 2)7 - 243 3)7 - 443 4)7 + 443

If the supplement of an angle is three times its complement, the angle is
1) 400 2)350 3)500 4)450

The length of the side of a square whose diagonal is 16cm is
1) 8¥2Z cm 2)24/8 cm 3)4v2 cm 4)242 cm

Two circles of radii 20cm and 37cm intersect in A and B. If O; and O, are their centres
and AB=24cm then the distance between O; and O, is
1) 44cm 2)51cm 3)40.5cm 4)45cm

The sides of a triangular plot area in the ratio of 3:5:7 and its perimeter is 300 m. Its
area is

1)15004/2 cm?2 2)15004/3 cm? 3)14254/2 cm? 4)1500 cm?

In parallelogram PQRS, PQ=10cm. The altitudes corresponding to the sides PQ and SP
are 6cm and 8cm respectively. Then SP is
1) 2.5 cm 2)5 cm 3)7.5 cm 4)10 cm



97. The line joining the centre of a circle to the midpoint of a chord is always

1) Parallel to chord 2) Perpendicular to chord
3) Equal to chord 4) Tangent to the chord

98. A conical tent has a floor area of 154 sq.m. Its height is 24m how much canvas is
required for that tent?

1) 700 sq.m. 2)550 sq.m. 3)500 sq.m 4)450 sq.m.

99. In a frequency distribution the mid value of a class is 10 and the width of the class is
6. The lower limit of the class is

1) 6 2)7 3)8 4)12

100. In a class 30% of the students offered English 20% offered Hindi and 10% offered
both. If a Student is selected at random, what is the probability that he has offered

English or Hindi?
1) < 2)

p= |

3)

|

3 3
- 4)_
4 11
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